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Answer Sheet: Plurals- Compound Nouns

Choose the correct answer.

Q1 - Which isthecorrect plural?

I:I Passer -bys
v Passers-by
[ ] Either could be used

Q2 - Which isthe correct plural?
D L aysby

v Laybys
Either could be used

Q3 - Which isthecorrect plural?

|:| M other-in-laws
v Mothersin-law
I:I Either could be used

Q4 - Which isthe correct plural?

I:I Shoes shop
v Shoe shops
Either could be used

Q5 - Which isthecorrect plural?

I:I Woman judges
Women judge
v Women judges
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Q6 - Which isthe correct plural?

D Travels agency
I:I Travel agencys
v Travel agencies

Q7 - Which isthe correct plural?

v/ Busstations
Buses station
D Buses stations

Q8 - Which isthe correct plural?

v' Antique shops
Antiques shop
Antiques shops

Q9 - Which isthe correct plural?

I:I Physic teachers
D Physics teacher
v Physicsteachers

Q10 - Which isthecorrect plural?

D Runner-up
v Runners-up
|:| Runners-ups
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